MARK SCHEME FOR GCSE COURSEWORK

ASSIGNMENT ONE : NORTHERN IRELAND

1. Describe the disadvantages faced by Catholics in Northern Ireland in the mid-1960s (15)

Target: Key Features/recall of knowledge

Level 1: Simple statements supported by some knowledge, eg Catholics found it hard to get jobs, they were poorer etc.; they were less numerous. (1-5)

Level 2: Developed statements supported by relevant knowledge listing main elements of disadvantage, e.g. gives details of discrimination say, in Belfast shipyards, or provides evidence about different living standards in Protestant and Catholic areas. Two-thirds Protestants made it easier to discriminate against Catholics. Mentions domination of Stormont by Protestant politicians. May show awareness of long-term nature of the disadvantage - a legacy of the partition. (6-10)

Level 3: Developed exposition supported by appropriately selected knowledge making links between features: e.g. shows how discrimination in employment often reflected political configuration, say, in Belfast shipyards on or railways. Control of many unions by Protestants. Provides detailed knowledge of structure of Stormont, showing how educational separation worked. Describes relationship which existed between Protestant schools and certain employers or sporting opportunities which were segregated, making it likely that recruitment would be skewed on religious grounds. (11-15)

2. How did Protestant Politicians explain the social, economic and political differences between Catholic and Protestant? (15)

Target: Explanation and understanding of attitudes and beliefs/recall of knowledge

Level 1: Simple statements supported by some knowledge, e.g. Some Protestant politicians said that Catholics were different - too influenced by the Pope; controlled by the Republic. At this level, distinctions between social, economic and political are likely to be indistinct. (1-5)

Level 2: Developed statements showing what reasons were given, supported by relevant knowledge, e.g. Ian Paisley says that Protestants, as loyal to the Union, should be given preference; emphasis on influence of Rome and of the Catholic Republic on Catholics in the north and that this created differences. Political differences reflect need for majority rule: there were far more Protestants in Northern Ireland. Social differences reflect different attitudes. Some Protestant politicians believed that Protestants work harder and achieve more. (6-10)

Level 3: Developed exposition supported by appropriately selected knowledge showing understanding of a range of explanations e.g. Paisley puts the emphasis on Protestant loyalty and religious differences, Rome Rule etc. Brookeborough puts emphasis on ‘enemy within’ - Catholics have different loyalties. Others again minimize differences or argue that Protestant political domination nevertheless gives Catholics equal chances of employment or of social and economic progress, pointing out quality of the best Catholic schools.

Some Protestant politicians see no reason to explain anyway, arguing that any differences have been greatly exaggerated by Dublin and/or by a hostile press. (11-15)

3. Why were British troops sent to Northern Ireland in August 1969? (20)

Target: Causation/recall of knowledge

Level 1: Simple statements supported by some knowledge e.g. To stop violence and to keep the peace. (1-5)

Level 2: Developed statements supported by relevant knowledge listing main reasons, e.g. In response to growing conflict over civil rights, outbreaks of violence in 1968/69; threats to Catholic property; troops would keep the peace. (6-10)

Level 3: Developed explanation supported by appropriately selected knowledge making links between causes and showing awareness that some causes go back long before 1969 e.g. Because of outbreaks of violence, some feared drift towards civil war; many Catholics were perceived by Protestants as not being loyal to the Union and therefore targets for attack. British government knew that RUC did not have confidence of Catholic as peace-keeping force; army would be seen as more neutral; Catholics wanted an outside force to keep the peace and sustain their civil liberties. (11-15)

Level 4: Sustained argument supported by precisely selected knowledge e.g. using knowledge as in Level 3, and with precise information selected, shows how British government’s perception and views of many protagonists come together to support the conclusion that only the army has the authority and power to have hope of restoring order and confidence. (16-20)
ASSIGNMENT TWO : BRITAIN IN THE AGE OF TOTAL WAR

1. Study Source A. What can you learn from Source A about the response of the

British people to the effects of the Blitz?  (6)

Target: Comprehension of Source

Level 1: Simple statements using the source at face value, e.g. they were quiet and determined etc.  (1-3)

Level 2: Developed statements making inferences from the source or referring to the tone of the source or the NOP, e.g. this was written to celebrate Britain’s victory, it gives no contrary details etc. (4-6)

2. Study Sources B and C. How useful are Sources B and C in helping you to understand the effects of the Blitz on the people of Britain? (10)

Target: Analysis of sources/causation.

Level 1: Simple statements using the sources at face value, e.g. they show good and bad aspects of bombing etc. (1-3)

Level 2: Developed statements evaluating reliability of the sources, e.g. arguments, community spirit, cups of tea, OR which refers to the motives of the government in censoring the media. (4-6)

Level 3: Developed evaluation of utility of the sources as evidence, e.g. refers to the motives of the government in censoring the media, difficulties of assessing accuracy etc.. (6-10)
3. Study Sources B, C and D. Does Source D support the evidence Sources B and C about the damage done during air raids? (8)

Target: Analysis of sources/reaching a judgement.

Level 1: Simple statements taking information from the sources at face value, e.g. does, does not etc. (1-3)

Level 2: Developed statements making links between the sources OR reaching a judgement based on inferences from the sources, e.g. on balance etc. (4-6)

Level 3: Developed explanation comparing sources as evidence, e.g. references to the need to censor the media –Source C, which was published shows that many people were homeless; bombing clearly went on for a long time as the dates continue over three years etc. (7-8)

4. Study Sources E, F and G, and use your own knowledge. Use sources E, F and G and your own knowledge, to explain why the government was concerned about the morale (spirit and attitude) of the British people in the autumn of 1940? (12)

Target: Analysis if sources/recall of knowledge.

Level 1: Simple statements using the sources as information OR own knowledge, e.g. the situation was very bad, many people were being killed etc. (1-3)

Level 2: Developed statements making inferences from the sources supported by relevant own knowledge, e.g. details about the effects of air-raids/the Blitz, problems of shelters, extent of damage etc. (4-6)

Level 3: Developed explanation using the sources as evidence supported by selected knowledge, e.g. the government was very concerned about the effects of panic upon the people of Britain, damage to the war effort, failure to turn up for work, awareness that some areas (the East End) were being very badly hit etc. (7-10)

Level 4: Sustained argument which makes confident use of the sources as evidence supported by precisely selected knowledge, e.g. additionally shows understanding of the national situation in September 1940, beginning of the Blitz, threat of invasion, the aims of the German attacks on London etc. (11-12)
5. Study all the sources and use your own knowledge. ‘The impression that the British faced the Blitz with courage and unity is a myth.’ Use the sources, and your own knowledge, to explain whether you agree with this statement. (14)

Target: Analysis of interpretation of events and recall of knowledge. (AO3)

Level 1: Simple statement using the sources as information or some own knowledge, e.g. Sources E, F and G and people were scared OR Sources C and F show that they were not etc. (1-3)

Level 2: Developed statements making inferences from the sources supported by relevant knowledge, e.g. there are more sources suggesting that people were afraid than there are suggesting that everything was okay, the sources which say that people were afraid are more likely to be factual etc. (4-6)

Level 3: Developed explanation making use of the sources as evidence supported by selected knowledge which supports the view, e.g. it is the sources which were published at the time which suggest that Britain could take it, the sources which were censored or which were secret suggest that morale was low etc. (7-11)

Level 4: Sustained argument making confident and thorough use of the sources as evidence supported by appropriately selected knowledge which challenges the view, e.g. although the evidence suggests that the British people were very frightened, it would appear that the relevant sources come from a short period of very heavy bombing and from certain areas of the country which were very badly hit. (12-14)
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